
Q1
The table below shows the masses, in kg, of 12 fathers and their eldest sons.

	Mass of Fathers
	65
	71
	67
	69
	67
	63
	62
	70
	66
	68
	68
	64

	Mass of Son
	68
	70
	67
	68
	68
	66
	66
	68
	65
	71
	69
	65


a)
Construct a scatter graph

b)
Draw a line of best fit

c)      PREDICT the weight of a son using your line of best fit, for a father   

          who weighs 61 kg.

Q2
The bacterial count (( 104) in a counter culture increases depending on the temperature, in (C, the medium is kept at.

	Bacterial count
	7
	8.1
	9.2
	10.0
	11.1
	12.4
	13.2
	14.3

	Temperature
	18
	19
	20
	21
	22
	23
	24
	25


a) Construct a scatter graph and draw a line of best fit.

b) From your line of best fit estimate:

i) what temperature will see a bacterial count of 100,000

ii) what bacterial count will be predicted for a temperature of 23.5(C?

Exam style question

Q3
A bird watcher counts the number of pigeons and the number of hawks he sees each day.
This table shows his results

	No. of pigeons
	5
	32
	18
	29
	33
	12
	21
	15
	35
	8
	22
	22

	No. of hawks
	20
	5
	11
	8
	4
	16
	9
	14
	3
	17
	10
	11



a)
Draw a scatter diagram to show this information



    (2 marks)


b)
Does your scatter diagram show positive correlation, negative correlation or no 

  

correlation?
 







 
    (1 mark)

c)
About how many pigeons would the bird watcher expect to see if he sees 15 hawks?








 
   (1 mark)

Q4
Information about oil was recorded each year for 12 years.  The table below shows the amount of oil produced (in billions of barrels) and the average price of oil (in £ per barrel)

	Oil
	7.0
	11.4
	10.8
	11.3
	9.6
	8.2
	7.7
	10.9
	8.0
	9.9
	9.2
	9.4

	Price
	34
	13
	19
	12
	23
	33
	30
	12.5
	28.5
	13.5
	26.5
	15.5



a)
Draw a scatter graph to show the information in the table
 

   (3 marks)


b)
Describe the correlation seen on your scatter graph.

  (1 mark)


Q1
a)
see graph









(3 marks)


b)
see graph









(1 mark)

c) approx 63.5 kg








(2 marks)

Q2
a)
see graph









(3 marks)


b)
i)
approx 21








(1 mark)

ii) approx 12.5







(1 mark)

Exam style questions

Q3
a)
see graph









(2 marks)

b) negative correlation







(1 mark)

c) approx 13









(1 mark)

Q4
a)
see graph









(3 marks)

b) negative correlation

 – the less oil produced the higher the price


(1 mark)

